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Rather by an intermediate size - swxona INBN

Overview

The X3 explained the reason the X1n mentions 777 is because there is a novelty in
this, for we may have assumed that there is no 7X¥17 2117 for 777, since this is not
the normal way of 7X¥17. The X3 concluded that we may have thought that 773 is
not considered a XX by intermediate-sized objects (which can be carried). mooIn
reconciles our X3 with a seemingly contradictory X ma.

mooin asks:
= (W1 8,19 97 XIN2 833) DDV PID2T PNYY 139290 NN

The >'"1 is astounded; for in 77192977 P9D -
- 1112303 NIN N2PWNA 19373 PN 1722NY 1997V 0927 %a)

Regarding the opinion that items which customary are lifted cannot be acquired

by pulling (772°w%), but rather they can be acquired only by lifting them (5777227) -
= NI’ Y27 21922 YN NN NNANN 927 © 2NN 799

So 7107 72 X7% 27 asked on this view from our case of ©°3 21377, which this purse is
something which is lifted, and nevertheless it seems that the 213 acquires it with
12°wn (dragging it), and »2X answered him that we are discussing a heavy purse,

which requires rope to drag it, therefore it is not 77237 92 so it can be 75°wn2 712, This

concludes the citation of that X3 —
= 2590912 1229N 929V NY NN NN NIWNI NIPI 293 NNANN 92T 9N MN INT YHYN

It seems that if we would have maintained that something which is usually lifted
can also be acquired with 712°wn, it would be proper to say that the purse can

even be a small one, which can be carried, but nevertheless it is 73°wn2 73p1 -
= 35910173 999N NN NY M99 Yy NN ININY

But how can we say that; perforce it cannot be discussing a small purse -
- 793 AN 797 PRT 795952 NIV PIYY 2900 350 19 ONY

For in that case how can he be 2917 regarding 7XX)7 on n2w through 779393, since
it is not the usual way to perform 7RXY7 —

! This 200 should precede the previous X "7 '01n.
2 It seems from that X723 that the only reason we need to be discussing a heavy purse (which requires Xan°») is because
otherwise it could not be acquired with 72°wn, indicating that if the ruling will be that a 77237 92 is 72°wn2 7313, there
is no reason why we cannot assume that it was a small 0°3 and he is 71 it with 773/f>wn.
3 mMpoIN question is that 737X 72 R7X 21 should have known that we cannot be discussing a small 0°3, for then there
would not be a Ix¥17 21 since he carried it 7172 X?W, so obviously it was a heavy 0, and therefore it is 72°wn2 1377,
and it is 77"/2°wn2 1P, so what is his question?!
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NID0IN answers:
= DINNN 77 INONINY 1D 29012 1D2AN 793 ANIN T97 NIOY TWINT 990 U

And one can say that it is possible that it should be the normal manner of 827
by dragging even if it is a small purse, for instance where he is taking it out from

a tunnel (which the 213 dug in order to steal); in which case regarding x%7 -
— 512N NIN NP 199N 4199952 19974

Its manner of stealing from a nnm» is through 79393, however it cannot be
acquired (for 72°13 °1°3P) only through 777227 according to that 7"» —

An alternate answer:
LIVIPN D992 VYN T97 199 7099 RDY 770809 919915 181 1IN 69123 N

Or you may also say that the X723 could have responded to X"ax" "o»yw?y’', (and

according to your reasoning, is it understood?), but the X923 did not ask this
"Pryu?'; for this is the manner of the X3 in many places that it does not ask '7°nyu?Y'.

Summary
The Xn»92 may be discussing a n7nAn where it is 722 XX 777 (concerning N2w) but

there is no 72°13 °°1p if it is a small purse, or it is a regular case and we must conclude
that it is not a small purse.

Thinking it over

1. Why is it that concerning n2w we differentiate that normally something which is
carried, there is no nX¥7 211 if it is dragged, however by n7nnn» he is 21 since it is
752 1377;8 however by o1 we make no difference’ and he is never 7P a 77237 12
with 72°Wn even by a nannn (where it is 752 1377)?!

2. Why did the X mx here not answer that it was nannna (instead of answering
byena")?!10 Is *yxn a 77237 92 or not?

4 Therefore we can establish our 7awn by 7773 regarding naw that there is a XX 21°7 since it is 732 1977.
5 Regarding o°11p even if he took it out n1nnna he cannot be AP it 7>°wn3a if it is 77337 12, See “Thinking it over’.
Therefore &"ax" had a valid question; according to your view, how is he 75 since he was not 712, however if we
maintain that 72°w» is AP by a 77237 72 (a small purse), it is understood that there is naw 21°11 by a nnmn», where it is
19772, and 72°13 °r1p through 7>°wn even though it is a 77237 12
¢ Mmoo may not be satisfied with the first answer, since the X012 makes no mention of a nnnx, and also perhaps
because of the difficulty mentioned in ‘Thinking it over’ # 1.
7 The %3 could have asked on X"ax" the question mentioned in footnote # 3.
8 See footnote # 4.
% See footnote # 5.
10'See x"wmn.
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